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6.560
6.560
6.560
6.560
6.600
6.600
6.600
6,600
6,600
6.600
6.600
6.600
6.630
64630
64630
6.630
$.640
6,640
64640
6,640
6.640
6,640
6.640
6.640
6.640
SYM 1
6.640
SYM 1
SYM 2
6.640
SYM 1
6,640
SYM 1
6.640
64640
64640
6,640
SYM 1
6.680
SYM 1
SYM 2
6.680
SYM 1
6.680
6.680
6.680
6.680
6.680
6,680
6.680
6,680
6.680
6.680
6.680
6,680
6.680
SYM 1
6.680
6.680

FLIP AQT

CR

R

6.720
6.720
6.730
6+730
6.730
6,730
SYM 1
6,730
6.730
6,730
6.730
6.730
SYM 1
6.720

ASHMEDA | 1 8] (fopnst AAARTR).

91 20000 , C = =~ - =
91 20000 , C = - = =~ LEGEMDRE PUOLYNUMIALS, AN EXAMPLE,
91 20000 , C = = = = = = @« = & = ‘= @ = = « = = & = . = = =
91 20000 .,
91 20000 .g— AW ARX=3 8 BoX T3
91 20000 .
91 20000 ., C AS AN OBTUSE EXAMPLE, CONSIDER THE LEGENDRE POLYNOMIALS.
91 20000 . C (THE TROUBLE WITH THE EXAMPLE IS THAT WHILE THESE PROGRAMS
91 20000 . € ARE FAST FUR DEALING SIMPLY WITH LARGE EXPRESSIONS.
91 20000 . C DEALING WITH MANY EXPRESSIONS 1S QUITE AWKWARD,.)
91 20000 . C : v _ . L
91 20000 . € THESE POLYNOMIALS ARE GIVEN BY THE RECURSION RELATION
91 20000 , C P(L)=2#(2~1/L)#P(L=1)=(1~1/L)#P(L=2) WITH P(~1)=0, P(0)=1,
91 20000 . C WHICH WE IMPLEMENT AS FOLLOWS.
91 20000 .,
91 20000 . C [N THIS EXAMPLE, WE KEEP IDENTITIES FOR THE PREVIOUS 2 POLYNOMIALS AN
91 20000 . C THE PARAMETER (IL) NEEDED IN THE RECURSION RELATION, ON EACH ITERA
91 20000 . C SLIDE P(L=1) TO P(L=2), P(L) TO P(L-1) AND CHANGE THE SUBSTITUTION
91 20000 . C FOR 'IL'. R .
91 20000 ,
51 20000 . C INITIALIZE THE MANY EXPRESSIONS NEEDED.
91 20000 .,
91 20000 , INPUT,10 B ¥ INPUT,11.C_¥ INPUT,12 IL ¥ _INPUT,7 1 ¥ [NPUT,4 O ..
91 20000 2 INPUT ¢ 743217452) 10 s g = N
97 20000 2 INPUT ( T743217452) 11 € SATabr 5 a Zﬁ7ﬁ
Co4D K¢ 11)
103 20000 2 [INPUT { 743217452) 12 i R S
CO4F L¢ 12) = /é
001A IL ¢ 738138144) 7°P7 7z Y‘ll?./% A 5?%
109 20000 2 INPUT ( T43217452) 7 wilwantBEF.
0048 GC i) . ?ll, {, ¢ 9
114 20000 2 INPUT ( T43217452) 4
0049 D¢ 4) B
119 20000 . SET/MODE(1)=1
119 20000 4 SET  (1516991312)_ 1061560932 1 . ___ i
119 20000 , INPUT,2 O ¥ INPUT,6 Z#(2-1L)#B=(1-1L)#C ¥ INPUT,3 1
119 20000 2 INPUT ( 743217452) 2
0047 B¢ 2)
124 20000 2 INPUT ( 743217452) 6
006D F( 6)
0018 Z (2060114368)
177 20000 2 INPUT ( 743217452) 3
0069 cc 3)
182 20000 .,
182 20000 . C * 7'= P(L)
182 20000 ., C '10° AND '4' ARE LHS AND RHS FOR P(L=-1)=...
182 20000 . C '11' AND '5' ARE LHS AND RHS FOR P(L-2)=..,
182 20000 ., C ' 2' AND *3* ARE LHS AND RHS FOR NN#lL=1
182 20000 ., C 12" IS THE INCREMENT FOR THE LHS OF NN#IL=1.
182 20000 . C ('NN' STANDS FUR AN INTEGER. ON SUCCESSIVE PASSES, IT wilLL BE 1,2,
182 20000 .
182 20000 . C THEN, CHANGE THE LHS OF *NN=lL=1"'
182 20000 .
182 20000 , OPEN,2 PCOLCT,8 OPEN,12 COLCT,8 MOVE,2,8
182 20000 2 OPEN (1222184272) 2
182 19993 2 PCOLCT(1274858638) 8
co67 H( 8)
182 20000 2 OPEN (1222184272) 12 N
182 19993 2 COLCT € 2696461000 1 + - - = 8 - = =« = 4« o sy Coe
H. © 17 WORDS, "1 TREES, ' * 1 CALLS, -1 TERMS, " * ‘0 ZERCES, ' 0 TEST
191 20000 3 MOVE (1062548628) 2 8
186 20000 .
186 20000 . C -NEXT, SLIDE DOWN P{L=-1) TO P(L=-2} AND P(L} TO P(L-1)
186 20000 ,
186 20000 . MOVE,S,4,4,7 ) .
186 20000 5 MOVE (1062548628) 5 4 4 7
0065 £¢ 5)
186 20000 , :
186 20000 . € SET UP SUBSTITUTION FOR P(L=-1) AND P(L=-2) AND NN#lL=.
186 20000 ,
186 20000 ., MAKEIDII;2131101411115‘ — — e L
186 2000C 8 MAKEID(1022753478) 1 2 3710 4 11 5
0063 AC 1)
206 206000 .
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6,760 206 20000, C GENERATE P(L) AND PRINT IT. e _
6.760 206 20000 .’ E - '

6.760 206 20000 .. OPEN,6 SUBST,1 COLCT.,7. LOOK,7 .. e e -
6.760 206 20000 2 OPEN (1222184272) 6 "

6.760 206 19993 2 SUBST (1549393988) 1 _

6.760 206 19988 2 COLCT ( 269646100) 7

FLIP ADT G. 17 WORDS: -1 TREES., 2- CALLS, 1 TERMS, = _ . 0O ZEROES, 1 TEST

6,760 215 20000 2 LDDK ¢ 982938020) 7 : B T .
CREREA S VA S R PR

6,760 .215.20000 .

6,760 215 20000 . C THIisS CAN NDw BE REPEATED e -

6,760 215 20000 .

6,760 215 20000 . OPEN,2 PCDLCT,e DPEN,12 COLCT.,8 MOVE,2=8,5=4,4=7,1

6.760 215 20000 2 OPEN (1222184272) 2

6.760 215 19993 2 PCOLCT(1274858638) . 8 S -

6.760 215 19983 2 DPEN (1222184272) 12

6.760 215 19976 2 COLCT ( 2696461000 8 :

FLIP ADT He 17 WORDS, 1 TREES., 2 CALLS, 1 TERMS, 0 ZEROES, 1 TEST
6.760 - 224 20000 9 MOVE (1062548628) 2 5 4 4 17 1 1
6.760 190 20000 , MAKEID(1)2=3%10=4%11=5 OPEN,6 SUBST.1 CDLCT,7 LODK,7 .

6,760 190 20000 8 MAKEID(1032753478) 1 2 . _....3_10 4 11 5
6.760 214 20000 2 UPEN (1222184272) 6 B ;
€.810 214 19993 2 SUBST (1549393988) 1

6.810 214 19988 2 COLCT ( 269646100) 7 -

FLIP ADT Ga 23 WORDS, 2 TREES. 4 CALLS' 2 TERMS, 0 ZEROES, 1 TEST

6.810 229 20000 - 2-LOOK ( 982938020) 7
+  3ulw#lwl/2 - 1/2 IO
6.810 229 20000 . OPEN,2 PCULCT;S OPEN,12 CDLCT’S "MOVE, 2= 8;5 =4, 4=Ts,1= 77
6,810 229 20000 2 DOPEN (1222184272) . 2 _ S
6.810 229 19993 2 PCOLCT(1274858638) 8
6,820 229 19983 2 OPEN (1222184272) 12 R A
6,820 229 19976 2 COLCT ( 269646100) .

FLIP AOQT He 17 WORDS., . 1 TREES,_ __ _ 2. CALLS, RS TERMS, o 0 ZEROES, 1 TEST
6.820 238 20000 9 MOVE (1062548628) 5 4 [ 1 7
6.820 198 20000 . MAKEID(1)2=3¥10=4¥11=5 OPEN;& SUBST.,1 CDLCT 1 LODK, . )

6.820 198 20000 8 MAKEID(1032753478) 1 3:.10 4 11cs5
6.820 226 20000 2 OPEN (1222184272) _._.6

6,820 226 19993 2 SUBST (1549393988) 1 )
6.840 226 19988 2 COLCT_( 269646100) __ P - -

FLIP AOT G. 25 WORDS, 2 TREES., 6 CALLS., 2 TERMS, 0 ZEROES., . 4. TEST

6.840 243 20000 .2 LOOK ( 982938020) 7 P
- 3#7Ix1/2 +  SulnZ#lxl/2

6.840 243 20000 ., OPEN,2 PCOLCT,8 OPEN,12 COLCT48 MOVE,2=8,5=4,4=7,1=T7"

6,840 243 20000 2 OPEN (1222184272)

6.840 243 19993 2 PCOLCT(1274858638). . 8 e e - -

6.840 243 19983 2 OPEN (1222184272) 12

6.840 243 19976 2 COLCT ( 269646100) i s ____

FLIP AOQT H, 17 WORDS., 1 TREES., 2 CALLS, 1 TERMS, "0 ZEROES, 1 TEST
6.860 252 20000 9 MOVE (1062548628) 2 5 4 B3 7 1 7
6.860 204 20000 . MAKEID(1)2=3%¥10=4¥11=5 0OPEN,6 SUBST.,1 COLCT;T LOOK,7 B L
6860 - 204 20000 - & MAKEIDC1032753478) L TR 12 ottt 3 10 - 4 -1} -5
6.860 238 20000 2 OPEN (1222184272) ' T 6 ! : -
6.860 238 19993 2 SUBST (1549393988) -— 1
6.860 238 19988 2 COLCT ( 269646100) 7 ) o

FLIP ADT G. 32 WORDS, 3 TREES., 8 CALLS., 3 .TERMS, 0 ZEROES, % TEST
6.860 262 20000 2 LOOK ¢ 982938020) 7 o

+ 35u7#7%7nlx1/8 = 15#7#72%#1/4 + 3#1/8
6.860 262 20000 ., OPEN,2 PCOLCT.,8 DPEN,12 COLCT.,8 MOVE,2=8,5= 4;4=7:1 7
6.860 262 20000 2 OPEN (1222184272) 2
6.860 262 19993 2 PCOLCT(1274858638) 8
6.860 262 19983 2 OPEN (1222184272) 12
64860 262 19976 2 COLCT ¢ 269646100) 8

FLIP AOT H. 17 WORDS,  _ .1 TREES., z_cALLs, 1 TERMS, 0 ZEROES, 1 TEST

6.860 271 20000 9 MOVE (1062548628) 8 5 4 4 7 1 7
_6.860 213 20000 . MAKEID(1)2=3%¥10=4¥11=5 DPEN,6 SUBST,1 COLCT.,T.. LUUK,7 . .
6.860 213 20000 8 MAKEID(1032753478) 1 2 10 4 11 5

_ 6.860 252 20000 2 OPEN (1222184272) _ . 6 _. — o e
6.910 252 19993 2 SUBST (1549393988) 1

.. 6.910___252 19988 2 COLCT_( 269646100) I | o L

FLiP AOT G. 35 WORDS, 3 TREES., 10 CALLS., 3 TERMS, 0 ZEROES, 7 TEST
6,910 279 20000 2 LDOK ( 982938020) T -

+ 15#7241/8 - 35%luZ#l%1/4 + 63nlulululsnlnl/8
6.910 279 20000 . o e
6.910 279 20000 . RTRNR,1,12
6.910 279_20000 i 12

_3 RTRNR_(1468944340)_
D)
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HAX 2. caMAL R71H (f.9 B8a )

F[19]; G[19]

2
3 F[0] = 1; G[0] = 0; U = -3ab; V = c-2bb; W = -b(a+2c)
4 FOR N = 1:1:18
5 F[N] = UdF[N-1]/da + VAF[N-1]/db + WAF[N-1]/dc - aG[N-1]
6 G[N] = U4G[N-1}/da + VAG[N-1)/db + WAG[N-11/dc + F[N-1]
7 PRINT[F([(N]}] ; PRINT[G[N]] ; PRINT[TIME]
8 REPEAT
9
10 STOP
11 PM(0)
12 END

4\
TeO 7" 7a ) Ak

Ao
o

CAMAL -- 6 Feb 1975

F[1l] = O
G[1l] = 1
TIME=0.00 SECS
F{2] = - a
G{2] = 0
TIME=0.00 SECS
F[3] = 3 ba
G[3] = - a

TIME=0.00 SECS
F[3] 3ac+ a"2-15b"2 a

G[4] 6 ba

TIME=0.01 SECS
F[5] -{45 bac+15b a2 - 105 b"3 a )

G[5] 9 ac+ a“2 -45b"2 a

TIME=0.01 SECS
F(6] -( 45 a c2 + 24 a2 c + a"3 - 630 b"2 a c ~ 210 b"2 a2 + 945 b4 a )

"

G[6]

-( 180 bac+ 30 ba"2 - 420 b"3 a )

Gl FvastEBN e 0.9 27



H4X 3. m-mMATH™ 4 2 4

muSIMP-79 (Version 6/2/79) SAVE: 160
COPYRIGHT (C) 1979 BY THE SOFT WAREHOUSE (808) 734-5801

?2 10¢!;

@ 3628800

? 110¢;

@ 15882455415227429404253703127090772871724410234473563207581748318444
5671629481830309599601315176785204792436726381799902085211486234222668
76757623911219200000000000000000000000000

> exeanp((a+s)"5); €— (A +B)° “&ﬂﬁ

@ S*A*B~4 + L0*A“2*B~3 + 10*A“3*B~2 + 5%A~4*B + A"5 + B"5

? EVSUB (#ASSNS,AA=10); &— % Y

@ 5*A*B"4 + 10*A"2*B"3 + 10*A"3*B"2 + 5*A"4*B + A"5 + B"5

? EVSUB(#ANS,A=1,B=2); é"%"ﬁ

@ 5*A*B"4 + 10*A"2*B"3 + 10*A"3*B"2 + 5*A™4*B + A"5 + B"5

? EVSUB(#ANS,A=1); 4‘"%’(9

@ 5*A*B™4 + 10*A"2*B"3 + 10*A"3*B"2 + 5*A"4*B + A™S5 + B"5

A}
? EVSUB(#ANS,3,2,B,4); <— 4§ A
@ 32 + 80*B + 80%*B"2 + 40%*B"3 + 10*B™4 + B"5

? EVSUB(#ANS,B=5); <— 4} AL
@ 32 + BO*B + 80*B™2 + 40*B"3 + 10*B™4 + B"5

? EVSUB(#ANS,B,5);

@ 16807

?2 INT(A*X+SIN(X) *COS(X) .X);

@ A*X"2/2 - COS(X)"2/2

? INT(#ANS,X):

@ A*X"3/6 + INT(COS(X)"2,X)

? DIF(#ANS,X);

@ A*X"2/2 + COS(X)"2

41
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8K 4. pL/1- FERMAC A AHY

OO NN e

(Revorian Prwer eriew 2 3t E)

70097 ) A
V

INPUT TO KFA FORMAC PREPROCESSOR - VERSION 3 - GMD, DECEMBER

SERIES: PROCEDURE COPTIONS(MAIN);
FORMAC_OPTIONS;

OPTSETCEXPND);
OPTSET(LINELENGTH=60);
OPTSET(INTY;

/% THIS PROGRAM WILL GENERATE UP TO NMAX-1 COEFFICIENTS
OF A REVERSED POWER SERIES. THE VALUE OF NMAX IS
ENTERD BELOW. x/

NMAX = 8;
DO N=2 TO NMAX;

LET(N="N");

LETCACNY = 0);

DO I = 2 TO N-1;

LET (MUM = N);

DO K = 2 TO I;
LET(K="K");
LET(MUM=MUMx (N+K=-1));
END; '

LETCI="1");

LET(TEMP=MUM/FACC(I));

M=N-I-1;

LETC(C(O)Y = B(1)x*%1I);

LET(M="M");

DO J =1 TO M;

LETC(J="J");

LETCC(JI)=0);
DO K =1 TO J;
LET(K="K");
LETCC(JI=CCI)+(KxI-J+KI%B(K+1)*C(J-K? );

END;
LETC CCJ) = (1/7C4%B(1I)> % CCJ)Y )
END;
LET CAC(NY = A(NY + TEMP x C(M) );

END;
LET C(A(N=-1) = A(NY/N + B(N-1) )i
PRINT _OUT(A(N-1) )
PUT SKIP(2);
END;
END SERIES;




FACOM OSIV/Fé4 PL/I VOSLIO SERIES: PROCEDURE OPTIONSUMAIN);

«x SOURCE STATEMENT LISTING xx

PL/IERE R ke y-R 700754
STMT LVL NST
1 0 SERIES: PROCEDURE QPTIONS(MAIN);

/% DECLARES FOR RUN-TIME ROUTINES. ®/

2 1 0 DECLARE
DENFMC21 ENTRY(CHARC(=x)),
DENFMC2 ENTRY(CHAR(x)),
DENFMC3 ENTRY(FIXED BIN(31),FIXED BIN(31)),
DENFMC4 ENTRY(CHAR(x)),
DENFMC7 ENTRY(CHAR(x*)),
DENFMC8B ENTRY(CHAR(x)),
DENFMCY ENTRY(CHAR(x))> RETURNS(BIN FLOAT(S53)),
DENFMCA ENTRY(CHAR(*)) RETURNS(BIN FIXED(31)),
DENFMCB ENTRY(CHAR(x2>) RETURNS(BIN FIXED(31)),
DENFMCC ENTRY(CHAR(x%)) RETURNS(BIN FIXED(31)),
DENFMCD ENTRY(CHARC(x),BIN FLOAT(53)),
DENFMCE ENTRY(CHAR(x),BIN FIXED(31)),
DENFMCF ENTRY(CHAR(*),CHAR(*))RETURNS(BIT(l))/
DENFMCG ENTRY(CHAR(x) ,CHAR(x)) RETURNS(BIT(l)),
DENFMCH ENTRY,
DENFMCL ENTRYCCHAR(*)) RETURNS(POINTER),
DENFMCM ENTRY(CHAR(=x),ENTRY);

3 1 0O CALL DENFMC3(03,0);
4 1 0 CALL DENFMC3(00,60);
S 1 0 CALL DENFMC3(05,0);

/x THIS PROGRAM WILL GENERATE UP TO NMAX-1 COEFFICIENTS
OF A REVERSED POWER SERIES. THE VALUE OF NMAX IS

ENTERD BELOW. x/
6 1 0 NMAX = 8;
7 1 0 DO N=2 TO NMAX;
8 1 1 CALL DENFMCIC'N="1INII*");
9 1 1 CALL DENFMCL1C('A(NI=0");
10 1 1 DO I = 2 TO N-1;
11 1 2 CALL DENFMC1(*MUM=N');
12 1 2 DO K = 2 TO I;
13 1 3 CALL DENFMCL('X=T'"1IKII'"");
14 1 3 CALL DENFMCL('MUM=MUMx(N+K-1)"');
15 1 3 END;
16 1 2 CALL DENFMCL('"I="1I1IHI"");
17 1 2 CALL DENFMCI('TEMP=MUM/FACCI)");
18 1 2 M=N-I-1;
19 1 2 CALL DENFMC1(°C(0)=B(1)xx1');
20 1 2 CALL DENFMCL(*M='{IMi['*');
21 1 2 DO J =1 TO0 M;
22 1 3 CALL DENFMCIC(*d="11JdI11"");
23 1 3  CALL DENFMC1(’'C(J)=0');
24 1 3 DO K = 1 70 J4;
25 1 4 CALL DENFMCIC('K='I1IKII"');
26 1 4 CALL DENFMCL1('CCJ)=CCJI+(K*xI-J+KI)*B(K+1)*C(J-K)"');
27 1 4 END;
28 1 3  CALL DENFMCIC'CCJI=(1/CIxB(1X))xCCID");
29 1 3 END;
30 1 2 CALL DENFMC1C'A(NI=A(NI+TEMPxC(M)");
31 1 2 END;
FACOM OSIV/F4 PL/I VOSL10 SERIES: PROCEDURE OPTIONS(MAIN);

STMT LVL NST

32 1 1 CALL DENFMCIC'A(N-1)=A(N)/N+B(N-1)");
33 1 1 CALL DENFMC2('A(N-1)");

34 1 1 PUT SKIP(2);

35 1 1 END;

36 1 o} END SERIES;



A(3) = 5 B(2) B(1) + B(3) + 5 B(1)

AC4) = B(4) + 3 B(2) + 21 B(2) B(L) + 6 B(3) B(1) + 14 B

A(5) = 7 B(4) B(1) + B(5) + 28 B(2) B(1) + 7 B(2) B(3> +

84 B(2) B(1) + 28 B(3) B(1) + 42 B(1)

AC6) = 8 B(4) B(2) + 36 B(4) B(L) + 8 B(5) B(1) + B(6) +
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{18k 5. REDUCE RA B CRRI{ g h BHEP Y )

@execm("e @save@.text non")

f/g2/ r\/—/-?/’ql?t\é 7?41»&4’?4]’:

l*
scalar f1,£2,9l1,92;
v

£ .
gZ:=f1+deps*df(gl,eps)+dmu*df(gl,mu)+dsig*df(gl,sig)$
down
write "g(“,i,") = ",92; '
down
f1:=£2$
down
gl:=g2
C /92/9211/
gl"'gzr
down
end;
b
end;
c/ii/ii  /

end;
i
INPUT
E

end s
KE0524601 SAVED IN DATA SET 'CO004.@SAVEQ.TEXT' -
0

@begln(78)
(STEP/TOTAL) TIME = (2/2) MS

>in in; &— /ﬁ%l (T 774 e cfﬁ)‘/‘%@\

(STEP/TOTAL) TIME = (18/20) MS
ON TESTS
(STEP/TOTAL) TIME = (7/27) MS

FOR I:=2 STEP 2 UNTIL 50 SUM I**2;
22100

(STEP/TOTAL) TIME = (57/84) MS
W:=FOR I:=1:10 PRODUCT I;

W := 3628800

(STEP/TOTAL) TIME = (24/109) MS
ARRAY A(10);

*** A ALREADY DEFINED AS‘ARRAY

(STEP/TOTAL) TIME (9/119) Ms

1}

A(0):

(STEP/TOTAL) TIME = (8/127) MS

FOR I:=1:10 DO A(I):=I*A(I-1); éf///

- /»m.-zpmwd -
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SCALAR F1,F2,G1,G2;
(STEP/TOTAL) TIME = (11/275) MS

DEPS:=~SIG* (MU+2*EPS) $ -f ;’ “?ﬁbﬁﬂ ‘%Tg 'f}d

(STEP/TOTAL) TIME (16/292) Ms

DMU:=-3*MU*SIGS

(STEP/TOTAL) TIME (13/305) Ms
DSIG:=EPS-2*SIG**2$

(STEP/TOTAL) TIME

(14/319) Ms

Fl:=1%
{STEP/TOTAL) TIME = (6/325) MS
Gl:=0$
(STEP/TOTAL) TIME = (6/331) MS

FOR I:=1:8 DO BEGIN F2:=-MU*Gl+DEPS*DF (F1,EPS)+DMU*DF (F1,MU) +DSIG*DF (F1,SIG)S$
WRITE F(,I, ) := ,F2;
G2:=F1+DEPS*DF (Gl ,EPS) +DMU*DF (Gl ,MU) +DSIG*DF (G1,SIG)$

WRITE G(,I, ) +G2;
Fl:=F28
Gl:=G2;
END;
F(1) := 0
G(l) :=1
F(2) := - MU
G(2) :=0
F(3) := 3*MU*SIG
G(3) := - MU
2
F(4) := MU*(3*EPS + MU - 15*SIG )
G(4) := 6*MU*SIG
2
F(5) := 15*MU*SIG*( - 3*EPS - MU + 7*SIG )
2
G(5) := MU*(9*EPS + MU - 45*SIG )
2 2 2 2
F(6) := MU*( - 45*EPS -~ 24*EPS*MU + 630*EPS*SIG - MU + 210*MU*SIG - 945%*
4
SI1G )
2
G(6) := 30*MU*SIG*( - 6*EPS - MU + 14*SIG )

KT 40 B 98



